Integer Programming. Solutions
1. The optimal solutions to the IP problems, using the graphical solution:

1.1 27 =5, 25=2, 2z"=13.
1.2 271 =14, x53=2, z*=100.

2. The optimal solutions to the IP problems:

21 27 =5, x;=2, zz=13.

22 o7 =14, z5=2, 2z"=100.

23 27=0, 23=0, 25=5, =2z"=15.

2.4 There are multiple optimal solutions:
=3, 25=0, a25=9, 2"=12

) =4, z5=2, x3=06, z"=12
3. The optimal solutions to the 0-1 IP problems:

3.1 There are multiple optimal solutions:
r1=125=0,25=1,2, =0,2; =1, 2" =1T.
ry=lLa;=125=0,2; =12 =1, =z"=1T.

32 a1 =125 =025 =0,25 = 1,2f =1, 2z*=15.

33 a7 =125 =125=1,2,=0,2; =0, 2z*=19.

34 27 =025 =1,25 =0,2y = 0,2 = 1,25 =1, 2" =17.

35 a7 =025 =1 z5=1x23 =1, 2*=1.

4. Components Cy, C5 and Cy are selected to be carried in the box.

21 =0, 25=0, 253=0, z; =1, z; =1, zg =1, 2z*=16.

OpenCourseWare, UPV/EHU, Operations Research. Linear Programming



